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= 8

print ('2
print ('25/3=",25/3)
print ('
print ('

HiirER
)5*%3=" )G**3)

25%3=",25%3)
25//3=",25//3)

print (5 + 6 * 4 ** 3 ** 2)

25%%3= 15625
25/3= 8.333333333333334
25%3= 1

1 #EEERERED
2 ¢l = 3+2.4]

3 ¢2=-4.2-1.11]

4 print(type(cl))
5

print(cl, '-' , c2,
<class 'complex’>

(342.43) - (-4.2-1.17)

c=3.E8
print (c)
e=1.6E-19
print (e)
N=1./e
print (N)
N=int(N)
print (N)
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SRE: FH 5 (4),5 ... FFHtypet] H EEBEVERIEIRE

- Python75 F1 {548

5 b=k HY B EE A

3 ¢=a+b Numbers (E§7)

4 s5="This is YC Chen" : =
This , String (A5 )

5 print ("type of a="',type(a)) List ?§U%>

& print ("type of b=',type(b)) =<

7 print ('type of c¢=',type(c)) Tuple (JT4H)

g8 print ("type of s=",type(s)) Dictionary ( 5¢8H)

9 #print ('a,b,c=",a,b,c)

10 #print (s, 'Hello, 2% —{EPYTHONFEZ")
: iz — L-[1,2,56.]

1
2 t=létﬁl.! 400
. . 3 s='Tunghai'
<class 'str'> 4 print (type(L))
5
6

<class 'int'>
<class 'float'>

print (type(t))
S print (type(s))

1 EMTEAE 1 "Tist'>

2 Learning Python is fun. "tuple’>

3 I hope you enjoy it.'"'

4 print ('Welcome to Tunghai Physics.')

elcome to Tunghail Physics.
>>>




if BE R EE T Q2: if ... elif ... else
R EHZHEFEZ1 fyTrue
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1

o i pone 1 2 print ('x=",%

elif fH {2 =2 3 - Fi}F(x <£ 3):; BEILLE AN
AR B FEF 2 fyTrue 4 print ('FEELET)

T TE AR 5~ elif(3 < x < 6):

B B TV AN 4ig 227D 6 print ("Z0FEE")

L[ Z=2FE > EERR PN HEAE 22 ;' elif(6 <= x < 12):

print ('/hEE")
9~ elif(12 <= x < 15):

' . \ 10 print ("EJH")
- # EAelifi2 (05 11+ elif(15 <= x < 18):
. 12 print ('SH")
else: 13~ else:
W ATAEI R R EE BIEw ___ print (A
UEIEIN N =R RER S ian A i /. T i (1~24) : 14

B T P /) x= 14
VEZERS » HERPEAEZERS
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& @ KB R (E R T if BEARER T

1 a=3 ﬁﬁﬁ%iﬁﬂ\
5 b=5 else:
3 print ('a,b=",a,b) HE B
4 if{a == b): print ('a=b")
E if(a != b): print ('al=b") 1 x-5p0.
6 if(a > b): print ('a > b") 2 print ('wavelength x=',x,' nm ')
7 if(a < b): print ('a < b") 3+ if(400. < x < 700.):
8 | 4 print ('visible light")
5~ else:
6 print ('invisible"')

nm
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n=0

2==

Q3: while7= B& + & 15 BT

2~ while n < 5:
n += 1
print (n)

3
4

1 n=06

2~ while True:

3 if(n > 5): break
4 n += 1

5 print (n)




. miE M- - BN = /s 1 lower = 900
Q4 FOT:’L@,'F:'&” SHJQ? 2 upper = 1000
3 print("i£",lower,"E2", upper,"” Z FEHIE E: ")
4~ for num in range(lower,upper + 1):
Vo9 A28 P 2 e S ey = k=0
6 ~ for 1 in range(2,num):
> 7~ if (num % i) == @:
AR - B R {E . o

yZFEﬁH/‘Jﬁﬁﬁgy 1: if{lr:::ﬂ)?reztint(num)

7 900 Ea 1000 = [ A9 E % :
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Q5: ForifE & +#& 48 HET > example-1
FEERLR AT T DA ABEERE R AE R 10082RR - BB ATTAFE HJ DAK400%EER

1~ while True:

2 year = int(input{"Enter a year:(Enter @ to stop) "))

3 if{year == @): break

4 ~ if (year % 4) == @: =R A EEEwhileiE B
G~ if {(year % 100) == 0O:

6~ if (year % 400) == 0 Hinputiiy A

7 print (year, ' BEFE(2)") = BHENIf... else
8~ else:

9 print (year,'ZFF(2)")

10~ else:

11 print (year,'EEF(1)")

12 ~ else:

13 print (year,'EFF(1)")

Enter a year.:

1991 EE E (1)
Enter a year: (Enter stop) 1996

1996 FH & (1)
Enter a year: {(Enter stop) 1900

1900 2 &+ (2)

Enter a year:{(Enter stop) 2000
2000 =2 & &£ (2)

Enter a year:(Enter stop) O
>
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Q6: #&iE F|Erif...elif...else > example-2
1y A = (EEE > [EIf ... elif ... elseZ KRB IR =(HP B AN—E -

1 numl = int{input("Enter numl "))

2 num2 = int{input("Enter num2 "))

3 num3 = int{input("Enter num3 "))

4 print ('3 integers:', numl,num2,num3)

E+« if {(numl >= num2) and {(numl >= num3):

S largest = numl

7 print (‘case 1: numl is the largest')
8~ elif (num2 >= numl) and (num2 >= num3):
9 largest = num2
19 print ('case 2: num2 is the largest')
11 ~ else:
12 largest = num3
13 print (‘case 3: num3 is the largest")
14 print (numl,num2,num3,’ The largest number=",largest)

Enter numl 4

Enter num2 34

Enter num3 109

3 integers: 4 34 109

ase 3: num3 is the Tlargest
34 109 The largest number= 109




Q7: ForilfE+else » example-3

for HETE 8 in range(]E4G(H, &5 1 import random as rand  # Ei A gl EIE(E
A, B 2~ for i in range(e 5 1) # 3if*iﬂ’f551
# B HE H T YRR 4 r*and_num = r*and randlnt(l 199)
|f%§f% 6~ if rand_num ¢ 90:
contlnue # f'tJE B LU M2 7 print(i,rand_num,"iEiE",1+1, " g H")
fE 8~ else:
9 print(i,rand_num, "f& 15 B )
XZ?U Arange%(?m/]?* 10 breal
H 11 ~ else:
12 # 2375 Fbreakis< Pt 1 i B g 1T
If T (iE T 13 pr*lnt( :F’f"f.ﬁ s ';iu ] ")

break # %&E’ﬁi@

else:

# ‘=28 Hbreakisg < Bl
PEHF
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QS8 : For{ip&+else > example-4

1 lower=900 B H W E R FRVFTE B8

2 upper=1000
3~ for num in range(lower,upper+1):
< K=0

et e T e ST ST v e S e S S e
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i for 1 in range(2,num):

6~ if(num%i == 0):

7 K=1

8 break

9 if(K == 9): print (num, 'EEZE")
1 lower=900

2 Upper=1000
3~ for num in range(lower,upper+1):
4~ for 1 in range(2,num):

5 if(num%i == 0): break else@ﬁﬁtpl?ﬂ%ﬁﬁ%’
6~ else: RE R I &5 3R (Eh
| -

+ - S lrange RS R %
. AU NI R A BT -




Q9 : Forup&+else > example-5
for I B + JEREFIER (if ... else) + SKERE(%) - 4EHE -

1 SUM=@

2~ for 1 in range(1,11):
3~ if(1%2==0):

4 n=1i/2

5 print (i,'B2EET#28E, i/2=",n)
6~ else:

7 SUM=SUM+1
8

9

print (i, '2&F & KT > SUM=",5UM)




Q10 : For2e B FR A2 22|

B RAR & A
GREFE AR —RE
RN E< - B

@ break

& Continue

@ pass

1~ for 1 in range(8):
print(i,end=" ")

3 if(i » 2): break
4 print (i,‘ i<2 non-break’,i
S oprint (... '
6~ for 1 in range(8):
7 print{i,end="/")
8 if(i > 2): continue
9 print (i, ifYE H= 2)
1@ print ("---cccmmmmi e e s '
11~ for i in range(8):
12 print (‘1 =",1, end="//")
13~ if(i < 3):
14 print ('P'+str(i))
15~ else:
16 pass

non-brea
-2 non-break 1

y :
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i
i

0//r0
1//P1
2//P2
3//1
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print ('-'%*5)




EX2-2 : 554m 5 —{EPYTHONRZZ\ R LAET R Wy EY AS AR By e SRRy i 3
HYRUR © x1Ev=100yF 2 HEE) > x2ZFIZEEv0=0 > JIZEFa=108yFNZEE
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EX2-3 : /{7 N EAVAEZ AL H i SRR R S R F B AR R
HEETIRET » FAAREYIRE T EUHBEER AR R -

1 90 30 82

2 80 78 85

a=[90,80,67,45,71,52,77,82,88,66] #[H 3 67 67 72

b=[30,78,67,55,51,52,47,82,98,35] #& 4 45 55 75
c=[82,85,72,75,69,52,88,92,95,91] #i B B @

N=len (a) 571 51 69

for i in range (N) : 6 52 52 52

print (i+1l,al[il,bl[i],c[i]) 7 77 47 88

if(b[1] > al[i]): print ("EEEE") 8 82 82 92

9 88 98 95

B2 B R
10 66 35 91

ap (BB RIS HABES =R S - FAEEEFSRENFE - HiHER
FEL R

67 67 72-->% <
82 82 92-—>% ¥ &
88 98 05— & £ =
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EX2-4 SR H—E ] TR 4 aa S ey BAEMIE R - EEREFURRESTE
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B (EAE TG ET & AR
A=Vl g3 b
(import math), B A E A
RIVE (radians)ill H A
RS E BN

x(t) = vp cos(O)t
y(t) = vo sin(@)t — %grz
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